
1) 59.6 + 62.7

Answer: ____________

2) 2.2 x 10.8

Answer: ____________

3) Find area of triangle 
a = 34 in, b = 64 in

Answer: ____________

4) 2/27 of 270

Answer: ____________

5) 5 - (-72)

Answer: ____________

6) An amount was decreased by 7% to 
$63.00. Find the original amount.

Answer: ____________

7) Find the range of the following set of data:

2, 8, 0.1

Answer: ____________

8) Solve by factorising 
d2 + 3d - 10 = 0

Answer: ____________

9) $202.00 earning 8% compound 
interest for 6 years.

Answer: ____________

10) Find area of square 
having each side (s)
equals 67 cm

Answer: ____________

11) 19 x 10

Answer: ____________

12) Share 21 in the ratio 5:2

Answer: ____________

13) Share 40 in the ratio 7:13

Answer: ____________

14) Share 40 in the ratio 7:13

Answer: ____________

15) 31 + 64

Answer: ____________
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16) Solve by factorising 
j2 + 16j + 15 = 0

Answer: ____________

17) Round 17.68190 to 1 decimal places.

Answer: ____________

18) Round 10.35 to 1 decimal places.

Answer: ____________

19) 'What is the probability of rolling a 
multiple of 6.when rolling a dice

Answer: ____________

20)
14  Find Volume of 
                         Square Pyramid 

14
14

Answer: ____________

Total: ___ / 20
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Answers:

1) 122.3 2) 23.76 3) 500.56268338741in 4) 20 5) 77 6) $58.59 7) 7.9

8) d = 2 or -5 9) $320.55 10) 4489cm 11) 190 12) 3 : 18 13) 2 : 38 14) 2 : 38

15) 95 16) j = -1 or -15 17) 17.7 18) 10.4 19) 1/6 20) 914.66666666667
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